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|Révisions

7?7 Revisions entre le chapitre 7 et

’’’Exercice 1777

def U(u0,n):
u = ul
L = [u0]
for k in range(l,n+1):
u = 14(u/k)
L.append(u)
return L

’’’Exzercice 2777

test-u = [1,2]
test.v = [2,4]
text.w = [2,7]

def colineaires_plan (u,v):

if u[0]*v[1l] — u[l]*v[0] = O:

return True
return False

’’’Exercice 8777

def test(liste):
S=0
for a in liste:
S += 1/(ax%2)
for a in liste:
if (axx2)xS < 2:
return False
return True

’’Exercice 4777

import matplotlib.pyplot as plt
from math import =*

def suite_u(n,ul):
u = ul
Y = [u]
for k in range(2,n+1):
u= (14(1/k))*sin (u)
Y. append (u)
return Y

liste_ul = [0.5,1,1.5,2,2.5,3]

def graphes_u(n,liste_ul):
X = [k for k in range(l,n+1)]
for initial in liste_ul:
Y = suite_u(n,initial)
plt.plot (X,Y,?.?)
plt .show ()
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’’’FExercice 5777

def

u_rec (n,u0,ul,u2):
if n==0:
return u0
elif n==1:
return ul
elif n==2:
return u2
else:
return (1/3)*(u-rec(n—1,u0,ul,u2)+u.-rec(n—2,u0,ul,u2)+u_rec(n—3,u0,ul,u2))

"’’’ FExercice 6777

ul =
u2 =
u3d =
ud =
ub

def

colineaires_espace (vl,v2):

x1 = v1][0]
yl = v1][1]
z1l = v1[2]
x2 = v2]0]
y2 = v2[1]
z2 = v2[2]
if z1==0 and 2z2==0:
return xlsxy2 — x2xyl = 0
elif z1==0:
return x1==0 and yl1==0
elif z2==0:
return x2==0 and y2==
else
k=z2/z1

return kxxl=—x2 and kxyl=—y2




